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Short answer questions/problems

1.  Assume that on December 11th, you purchased shares of Disney stock.  It just so happens that December 11th was the ex-dividend date for Disney.  Without any other information, what would have been the implications of buying the stock on the 10th rather than the 11th?
Would have received next dividend, but likely higher price.

2.  What evidence do we have regarding how stock prices react to firms announcing their plans to increase dividends?
Increase

3.  How does the Clientele Theory of dividends suggest stockholders sort themselves according to dividend payouts?
Tax bracket.  High tax bracket investors own low dividends, low tax bracket investors own high dividends.

4.  According to the signaling theory of dividends, what factors do managers consider when setting the current dividend?

Most recent dividend, current earnings/cash flows, expect future earnings/cash flows

5.  Assume that Gandalf Inc. has decided to repurchase some of its outstanding shares via transferable put rights.  The firm currently has assets with a market value of $1,300,000 and debt with a market value of $200,000.  The firm plans to repurchase 10,000 of its 100,000 shares at $15 per share.  The firm plans to issue one put per outstanding share.  Based on this information, what will be the market value of each put issued?
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Problems/Essays

1.  President Bush is proposing that taxes on dividends be cut.  Given our discussion of dividend policy, what would be the implications of such a cut?  Be sure to justify your answer.

=> more dividends are likely to be paid for numerous reasons

=> money that was used to repurchase shares now used to pay dividends if were repurchasing shares for tax reasons.

=> money that was being invested in negative NPV projects now used to pay dividends if investing in the projects for tax reasons

=> money that was being used to acquire other firms now used to pay dividends if acquisitions were driven by tax reasons

=> money being used to acquire financial securities now used to pay dividends if securities being acquired to avoid dividends for tax reasons

Notes (the following are less important issues):  

impact reduced somewhat by existence of retirement funds, etc.  

high tax individuals are more likely to be willing to own high dividend stocks

as increase dividends stockholders gain at bondholder’s expense

as increase dividends, stockholder/manager conflict is resolved
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2.  Suncore Exploration has just announced that it will implement an EVA-based compensation system.  This new system will replace a bonus system based on earnings per share.  At the announcement, Suncore stock rose 10%.  What might explain this reaction?
=> EVA provides a better measure of performance than earnings per share

=> earnings per share recognizes revenues and expenses in different periods than when the cash flows occur

=> earnings per share recognizes revenues when the earnings process is virtually complete and matches expenses to revenues

=> this violates the time value of money

=> EVA corrects for this violation by charging interest on any net spending not yet recognized for accrual accounting purposes

=> consistent with the time value of money and cash flow

=> under EVA, management compensation will be more closely tied to true performance

=> management is more likely to make decision in stockholder interest

3.  Air Games Inc. has recently issued a large amount of debt and used the proceeds to repurchase outstanding shares of common stock.  Given our discussions, how will this change impact the types of projects that the firm will want to undertake?

The debt creates stockholder-bondholder conflict

=> the firm is more likely to undertake projects that increase the variance of the firm since stockholders would benefit at the bondholder’s expense

=> bondholders have a fixed claim

=> stockholders have a residual claim with limited liability

=> upside benefits stockholders

=> downside hurts both, but possibly only bondholders

=> negative NPV projects are possibly undertaken

=> the firm may pass up future positive NPV projects if stockholders must provide the funding

=> the project’s NPV and the new funds contributed by stockholders benefit both stockholders and bondholders

=> both provide a cushion for bondholders

=> stockholders lose if the increase in price is less than contributions

=> the additional debt helps to resolve stockholder-manager conflicts

=> funds used to overexpand will now go to debt service

=> less total spending on projects
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4.  Assume that as a Christmas gift you receive shares of Broadcom and shares of Johnson & Johnson.  You also receive enough T-bills that they represent 10% of the total value of your Christmas gift.  Based on your analysis of historical as well as current financial data, you estimate that Broadcom is both riskier and will provide a higher return than Johnson & Johnson.  Based on your analysis, you also estimate that even though you don’t want to change the overall level of risk from its current level, you should sell some of your shares in Johnson & Johnson and buy additional shares of Broadcom.  These transactions will allow you to achieve the highest expected return for the risk you are taking.   Show graphically your initial portfolio and the changes you must make to achieve the same level of risk that you have now.  Show also the new level of expected return you will achieve.  Finally, discuss why the change makes you better off and discuss how each of the changes you make to your portfolio work together to keep the overall risk level of your portfolio unchanged.  

Description of graph.  Broadcom and J&J serve as endpoints for a curve which extends to the left of the two points.  Broadcom is above and to the right of J&J.  Initial portfolio is on line from risk-free rate to point on the curve that is to the left of and below the point of tangency.  After the sale of J&J and the purchase of Broadcom, the line is steeper and is through the point of tangency.  Your new portfolio is directly above your original portfolio.  Discussion: by selling J&J and buying Broadcom, you are able to achieve the tangent portfolio and thus achieve the highest line and thus the greatest return for every risk level.  In my graph, the new portfolio is riskier.  The must increase % of wealth invested in T-bills.  Note that the intercept is the risk-free rate.

5.  Assume that for graduation you receive a note from a long-lost relative stating that you will be given $20,000 of stock in Kellogg and $60,000 of stock in General Motors if you can correctly estimate the correlation between the returns on Kellogg and General Motors using return data for the past four years.  If you make a mistake, you get to keep only the note itself.  What do you say?

Return on:  

Year
Kellogg
General Motors
1998
-29%
+27%

1999
-7%
+20%

2000
-11%
-10%

2001
+19%
-13%
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 6.  Digital Devices Inc. which has assets with a current market value of $10 million is considering investing in a new manufacturing facility that will cost $2 million to construct.  Digital estimates that the new facility will produce net cash flows with a present value of $2.4 million.  Digital estimates that the new facility’s risk will be less that of the firm’s existing assets.  Specifically, Digital estimates that the standard deviation of returns on the new facility will be 37% compared to the standard deviation of returns on the firm’s existing assets is 53% and the beta of the new facility will be 0.70 compared to 0.98 for the firm’s existing assets.  Digital also estimates that once the new project is undertaken, the standard deviation of returns on the firm’s assets (including existing assets and the project) will be 50% and that the beta of the firm’s assets (including existing assets and the new project) will be 0.96.  The average life of the firm’ existing assets is 15 year and of the new factory will be 20 years.  Digital is currently funded with equity plus debt that matures in 5 years for $12 million.  The new project would be funded with $500,000 of internal cash, by issuing additional debt that will mature in 5 years for $2 million, and by issuing additional shares of common stock.  The risk-free rate varies according to maturity as follows (all are APRs assuming continuous compounding):  1-month = 1.30%; 1-year = 1.36%; 5-year = 3.40%; 10-year = 4.69%; 15-year = 5.35%, 20-year = 5.93%.  If the expected return on the S&P 500 is 9%, what is the value of the firm’s stock after the project is undertaken?
V0 = 10 + (2-0.5) – 2  + 2.4 = 11.9

Dt = 12 + 2 = 14

2 = (.5)2 = .25
rf = .034
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=> 5,077,370

7.  Federated Technology Group is considering building a new manufacturing facility for $12.5 million.  The entire cost would be incurred today if the firm decides to proceed.  If built, the facility would produce net cash inflows of $600,000 eight months from today.  After this initial cash flow, net cash inflows would occur quarterly and would grow by 0.6% per quarter and continue through 6 years and 2 months from today.  Federated estimates that the risk of the new factory will actually be less than the risk of its existing assets.  This is true whether risk is measures by standard deviation or beta.  Specifically, the standard deviation of returns on the new factory is estimated to be 31% compared to 44% for the firm’s existing assets, and the beta for the new factory is estimated to be 0.58 compared to 0.82 for the firm’s existing assets.  If the risk-free rate of return is 1.3% and the expected return on the S&P 500 is 8.5%, should Federated build the new facility?

r = 1.3 + (8.5 – 1.3)(0.58) = 5.476%
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NPV=12,298,837.72-12,500,000 = -201,162.28

=> do not build facility
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